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Divide by 2 Through 1 2
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PRACTICE

Divide.

1. 12+2=____ 2. 24 +-3=_____ 3,32 +4=___
4. 35+ 5= _____ 5. 54 +-6=______ 6. 56 ~-7=____
7.64+-8=___ 8.81+9=_____ 9,40 -8 =___
10. 48 -6 =___ 11.49+7=_____ 12. 27 3 =__
13. 30 +5=___ 14. 36 +4=______ 15. 72 +9=___
16. 90 - 10=____ 12. 121 =11 = _____ 18. 144 - 12 =___
19. 2)18 20. 3)18 21. 424 22. 714 23. 8)16
24, 7)63 25, 6)42 26. 9)63 27. 545 28. 8)72
29. 12)72 30. 11)77 31. 10)80 32. 1109 33. 12)108

Algebra & Functions Find the rule. Then complete the table.

| Rule:

0 9

0 1 2 3 4 5 6
%5 | Rule:

0 7

0 1 2 3 4 5 6

Problem Solving

37. There are 45 tomatoes on 5 tomato
plants. Each tomato plant has the
same number of tomatoes. How
many tomatoes are on each plant?

36. There are 42 tomato plants in rows of
6 plants in each row. How many rows
of tomato plants are there?

Use with Grade 4, Chapter 4, Lesson 11, pages 164—167. (136)



